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           Transcription of KHABOURIS CODEX by S. P. Silver( 2005


Nylh        <y0d        fyxd         .hl         tbhyt0d        Fmkx


:Myrmd    hrb    0rgn     0nh     0wh    f  *  .Jwwhn    Yhwdy0b


.Jw9m4dw        0dwhydw        :0swydw        Bwq9yd        Yhwx0w


.hb     wwh     Nyl4ktmw     .Jtwl     Nnt     htwx0     :0h     fw


J0      f0     ry9cd      0ybn     tyl      .(w4y     Jwhl      rm0w *


Xk4m       fw *     htybbw       Yhwnyx0       tybw       .htnydmb


J0     f0      .fyx      dx      f     P0      Nmt     db9nd      0wh


rmdtmw *     .Ys0w      hdy0      Ms      Lylq      0hyrk      L9d 


<rktmw             .Jwhtwnmyh                twrysxb                0wh


Yr4w     .htrs9rtl      0rqw *    .Plm      dk     0yrwqb      0wh


0n=lw4      Jwhl       Bhyw     .Nyrt      Nyrt      Jwn0       rd4nd


fd      Jwn0       dqpw *     .Jwqpnd       Fpn=       0xwr       L9


.dwxlb      0=b4      J0      f0       .0xrw0l      Mdm       Jwlq4n


.Jwhysykb       04xn      fw      .0mxl      fw      fmrt       f


.Nynytwk     Nytrt     Jw4bln     fw    .0rl=    Jwn0sn     f0  * 


Nmt     .Jwtn0     Nyl09d     Fyb      0ny0ld     .Jwhl      rm0w *


Nm      Lkw *    .Nmt      Nm     Jwtn0      Nyqpnd      0md9      wwh


Nyqpnd        0m       .Jwknw9m4n       fw       Jwknwlbqn         fd


0ytxtbd          fx          wcp          :Nmt         Nm         Jwtn0


.Jwkl       0n0       rm0       Nym0w     .Jwhtwdhsl      Jwkylgrd


0nydd         0mwyb        0rwm9lw       Mwdsl        Xyn         0whnd


.Jwbwtnd     wzrk0w     wwh     wqpnw *     ~ Yh     Fnydml     w0


wwh        Nyx4mw         .wwh        Nyqpm         00ygs         0d04w *


(m4w *      .wwh        Nys0mw        00ygs        0hyrk        0x4mb


ryg      hl     0wh      (dyt0     .(w4y      L9     0klm      Sdwrh


tyb      Nm      Mq      0ndm9m      Nnxwy      .0wh      rm0w      .hm4


0nrx0  *     .hb      Nyr9tsm      fyx      0nh      L=m      .Fym


<y0     wh     0ybnd     0nrx0w     .wh      0yl0d     wwh      Nyrm0


wh    Nnxwy    .rm0    Sdwrh    Nyd    (m4    dk *  .0ybn    Nm    dx
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